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Start with a symmetrical, but irregular shape.




Add a vertical (or horizontal) straight line, depending on which orientation (horizontal or
vertical) you want to be symmetrical across.
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Center the vertical line within the irregular shape...
...first select the vertical line, then select the irregular shape while holding down the shift key.

Center the vertical line by selecting the “<- -> “ (top left option) in the align function.



— —
s N —

\ ( e ~ / T C )
~ 4 ~
T ~ \ / ~ — —\
( \ s - Vel )
—— / —

\
\
/] h h \ / /’ )
et N \ 1/ 4 ~~ — /
() Y \ ()
o~ ~— AN / — —~
N/ O
— p — ~ \
| — / — N\ |
— Ne ™ /
— ~ ~
— ( — —~ ~
C .
D Q
( / \ )
1] -
[ L [N} L
[ = i IAN < \
| 1 /] \
\ l \
) - ™~ (¢
4 / / \ \
[ d 1 » \
\ 3 ol /
) \
4 / \ N\
[ \
/ \ \
N —/ )
N\
S~/ Nt

Create a rectangle large enough to include half of the irregular shape.
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Align the rectangle with the vertical line, then delete the vertical line
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Select the rectangle and the irregular shape (hold down shift key to select both vectors), then
select the Boolean intersection function.
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Select the resulting vector, move the cursor off the workspace, then select copy, and then
select paste so that the pasted copy exactly overlays on the top of the original vector.
Then select the “mirror horizontal” function...once mirrored, you can move either half left or
right (horizontally) so that it’s easier to see both halves, but DON’T move either half vector up,
or down. You want these two vectors to be on the EXACT same x/y plane,
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Align to Stock
© Align to Last Selection (Dotted Line)

Done
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Select both halves, then align their outside edges.
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Select the Boolean Union function + Group Output.

You can select “keep original” vectors, but be sure to move them so they don’t interfere with
your final vector.



N,
N
) hSEL
!
\ = =
LI { EaRNRY
~ ~! \ p——
\ O 7 - ~ K
Ly (4 H I - & -
N\ \ .
N / ARV 7
CUAN s ’ /
\ \ ¥y N AP
7 ~ A\ 4 1
\MAN L N A o
N\ (L} ZARY; H
N\ L'
NN, AN )
N~ N, Fis Wi /
\, N v 1y 4
o, NERSEA v Ty
\. N, N /
SIS ~ -~ & -
- - S ol — .
<IN S ) —_
ll
7
3
-
- - ~
- - s - '~ -~
Pt ~ S S
¢ A 4
- / \\ Y ~. /
ARVa /
AER4 ViEN )
myd / 7
/ A \ 5 N
4 [ANH '\ H
/ \ <=/ N
4V NL 1 AY V)
. / \ £\ NEA /
/ 4 \
/ AY K \ N
1 ARS \ N
/ ! —! T Iy A
Vil \ Al ~. -~ N D,
N - 7 -
1 S’
I -
-~ 1
K v
(71T =
~7 0 -
= g
\ -
-
-~

Done.



